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! ETM 645

! Problem 11.1-4
!

Max 17 x1 + 10 x2 + 15 x3 + 19 x4 + 7 x5 + 13 x6 + 9 x7

ST
43 x1 + 28 x2 + 34 x3 + 48 x4 + 17 x5 + 32 x6 + 23 x7
x1 + x2
X3 + X4
-1 x1 - X2 + %3
-1 x1 - X2 + x4
END
INT x1
INT x2
INT x3
INT x4
INT x5
INT x6
INT x7
LP OPTIMUM FOUND AT STEP 7
OBJECTIVE VALUE = 41 .4375000
NEW INTEGER SOLUTION OF 41.0000000 AT BRANCH

RE-INSTALLING BEST SOLUTION. ..

OBJECTIVE FUNCTION VALUE

1) 41.00000
VARIABLE VALUE REDUCED COST
X1 1.000000 -17.000000
X2 0.000000 -10.000000
X3 1.000000 -15.000000
X4 0.000000 -19.000000
X5 0.000000 -7.000000
X6 0.000000 -13.000000
X7 1.000000 -9.000000
ROW SLACK OR SURPLUS DUAL PRICES
2) 0.000000 0.000000
3) 0.000000 0.000000
4) 0.000000 0.000000
5) 0.000000 0.000000
6) 1.000000 0.000000
NO. ITERATIONS= 7

BRANCHES= 0 DETERM.= 1.000E 0
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